R SRS

N S fakl XD B S K
LT KD eI R

W QAENLE AT

o bk W N

BFEI+NEEx | o

S W) E DA K N o BT
. EEREMAL ) E

aty

EURR
AN |

N
BRFEE

b R & K
S R K i
IR K

HELTHELLILEWEOLA R

B 2E/RS 2855 HORE

Hg (FEE+-<SEHERD-P0) R TKEHAESOR
SRV EFOLOVY EXRIEFCRE LT

(1) —172
(1) —374
(2) —6

(2) — 17
(2) —20



© o0 N O

11
12
13
14
15
16
17
18
19
20
21

smanr X Z s (B4 AL A F )

vruan XLy (Rl ATF L)

/20" 30 3 NY RN

Tuax AL (G4 RIEATF )

AR = S S %

1, 22—y 7Z7manmnx iy

1, 22—y Z7unagua/NNy
ynmnuxF Ly (plalEle =)

1, 3—vYzZumr7su~Xy (BI4D—-D)
AF )T I v

VAFNLT IV

T hFIAFALT o E=ZU L= KaFfx T K
=

TFLFFTR

1, 2—xxRFvr7uXy (Jl4aBgib7re L y)

1, 2—xTAhRFTTH

(2) —35
(2) — 36
(2) —37
(2) —39
(2) — 53
(2) — 54
(2) —81
(2) —102
(2) — 125
(2) —129
(2) —134
(2) — 186
(2) —191
(2) —218
(2) — 219

(2) —229



22
23
24
25
26
27
28
29
30

31
32
33
34
35

e il 720 = B0 w 0 el N I

TF L7 Va— e /) AFLZ—T )b

2— (1 —AFNLxzhbFxv) =& ) — )b
ALV LT VT B R

7T MTVTER

N, N—CAFALEARLLT IR

MEle B =L

AFN=RTH /)T —Fh

N, N—tZX (2—tc Fuex>y=—F)) FLT73IFK

T 7 Vvl A TF L
77 UV TF L
77UV n— T F
77 UNLT IR

A BTV IVEE

(2) — 275

(2) —405
(2) —410
(2) —482
(2) — 485
(2) — 680
(2) — 1728
(2) — 798
(2) —814
(2) — 827
(2) —2503
(2) —987
(2) —988
(2) — 989
(2) —1014

(2) —1025



36
37
38
39
40
41
42

43
44
45
46

47
48

TF L YT P EERE

= rVU v = FERR

7 b= KU

77 U =hKU L

F A IR FH
THRITIZTFNTOITAEATANLT 4 K (BIAHATYANT 4T H)

A (N, N=—VAFNVITFE I NI VE) N, N —=F L~
ERX (FAINANETEALNVFLIER) (LR T T— 2 — )
NFHRAFL=UA4 YT X — b

2 —XAFnTuXxr—2 —F—)v (B : tert— 7 F LT )L a—)L)
S AV

koL

A F L

A VT X=Xy (Mbha— AFILAFL YY)

(2) — 1263
(2) — 1276
(2) — 1508
(2) — 1513
(2) —1733
(2) — 1820
(2) — 1848
(2) — 2863
(2) —3049
(3) —1

(3) —2
(3) — 60
(3) —4
(3) —5

(3) —8



49

50

51

52
53
54
55
56
57
58
59
60
61

1, 2, 4—bFUAFALN BV

TF LR F

Ry =7nul K (4tEbx> )

o—vV/muXrEr

p—Yr7uouaxX¥

T =1

]7]
\

m— 7 z=1v 7

o— 7 =127

)/
\

o— hvA v
o—7Z7nmunury=1vr
=hfrXE
p—7mHruBu=hfarXP

2= Nl w B NI} P s

(3) =7

(3) — 3427
(3) — 28
(3) — 60
(3) — 39
(3) —102
(3) — 41
(3) — 41
(3) — 105
(3) — 185
(3) — 185
(3) — 186
(3) —194
(3) — 436
(3) — 442

(3) — 446



62
63

64

65
66
67
68
69
70
71

72

73

7 x /J — )b

2, 4 — —tert— X F )T = /) — )b

2, 6 —Y —tert— 7 F)NV—4 —AF )T ) — )b

ve 7 a—)v (4T a— i)

TEILBEE R (2 —xF )L ~F )

T L7 RNV A TF )L

VAR A A

1, 2,

4 — X B NI AVRUVEET,

v 2T Iy (N—RB)

[3 —

VI A~

4, 4’7
T =1 )
4, 4’7

(1)

—v7

—v7

]7)

]7)

2 — K

Y Z7xz2= VKTV

)T 2= )V A E v (B4 4, 47

J — 3,

3 /

(2 —=x=F N ~"F)LAxFy) ol r7Iv] Y 7=

—AF LY

—Yvuuy 7 =)L xR2 (B4

(3) —481

(3) —521
(3) — 526
(3) — 540
(9) — 1805
(3) — 543
(3) — 1307
(3) — 1328
(3) — 1334
(3) — 1362
(3) —4280
(3) —4392
(4) — 40
(4) — 95



74
75

76
7
78
79

80
81
82
83
84
85

4, 4’ —AXAF LB R (2 —

AFLUyERA (4, 1 —7=x=
4, 47 — (FaXv—2, 2
4 —4 vV TFavryFrY 7
T H L
DZRVE/A = SO S = 4

3, 3/ =Y uouxRryTr
vy sm [2. 2. 1] ~7XH
=V VT = FDRAWY

1, 4 —vFxH%
EFARD

e — W7 wa 7T HE N

(=) N N I = P N S
A (2 —ANLVT7 4 R Uv

CHIYV U LA=EXRXRTTU -1,

rsuauar=1r))

Ly) =AY 7T X — b
— A N) 7= — (B4 4,

J— )L XIFTERAT7 =) —)LA)

=2, 5 (Xix2, 6) —VAn

(1.1)
— 1 —F7 ) 4
4—CA (AAVRIFFT — 1)

(4) —96
(4) — 275
(4) — 118
(4) —123
(4) —311
(4) — 634
(4) — 800
(4) — 1715
(5) — 839
(5) — 859
(5) — 1097
(5) — 6268
(5) —6271
(5) — 6783



86

87

88

o« — (/=Vv7=xz=)) —wo—bEFRrXIFRY (FAF=F L) (7)—172
(B4 RY (FFx>2F L) =)= 7 xz=)Lx—F))

4, 4/ —4A4 Y Tav VT 7/ — b1l —27vr -2, 3— (7)—1279
TRF VTR0 EMFEEY (L4272 ) — VAR TR (7) —1283
) (RIKRDOHDIZIR D, )

v~ —1—=r—1, 2=V INEAFIAIRFAF = ((9)—839

/)

1 RS) —cis—trans— 2, 2 —AF)NL—3— (2 —AXAF)L7no
NR=1—xZ=) ¥yIma7aXANrR*rT7—F (AHT KT A

KU V)



